Notation Scientifique (])

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

463500000 = 70400 000 =
740 000 = 1,584 x 10* =
572 200 = 1,66 x 10* =

9,17 x 108 = 96 000000 =

883500000 = 586 x 108 =
59x10® = 2,279 x 103 =
411 300 = 546 X 10° =
72 000 = 8,33 x107 =

1400 = 2,976 x 105 =

87880000 = 6 500 =
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Notation Scientifique (J) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

463 500 000

740 000

572 200

9,17 x 108

883 500 000

59 x 103

411 300

72 000

1400

87 880 000

4,635 x 10°

7,4 % 10°

5,722 X 10°

917 000 000

8,835 x 10°

5900

4,113 x 10°

7,2 x 10*

1,4 x 10°

8,788 x 107

70 400 000

1,584 x 10*

1,66 x 10*

96 000 000

5,86 x 10°

2,279 x 10

5,46 X 10°

8,33 x 107

2,976 x 10°

6 500

7,04 x 107

15 840

16 600

9,6 x 107

586 000 000

2279

546 000

83 300 000

297 600

6,5 x 10°
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